
AP Calculus AB 2.1 Limits    Name ______________________ 
 
 
Right-hand limits: 
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Two-sided limits: 
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Use a calculator to determine the following limits:   
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Polynomial Functions  
 
Given:  2( ) 3 4 2f x x x      
Find using a calculator:   
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Limits of a polynomial function may be found by ______________________________________________. 
 
Notation:  lim ( )

x c
f x


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Rational Functions 
 
If f and g are polynomial functions, then   
 
Properties of Limits:   See handout! 
 
Examples:  Determine the limit by substitution. No Calculators. 
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